b 61000

00 6.1z=22+2y 000000000

(1) y=20000000000 22000000

0 y=20000000000 2=2%+2:000000000 (-1,-1)
000000000000000000000000000n

(2) 2z=20000000000y-000000

0 2=20000000000 2=4+2 0000000000000
00000000000000000(2z00000000 yO00O000O
oooo)

(3) 2=200000000 zy00000O
0 »=20000000000 ¢®4+2y=200000y00000000

y=--x
X

gbboboodoby=——2x0s=0000000000000000000A0
oboooooogd

(4) z=2+2y00000000000O
0 00000000000000000000000000000000
0000 30000000000

(Hoooo

T T
xF*24-2%x

1k -




(20000

T
44-2*%x

-2 -1.5 -1 -0.5 0 0.5 1 1.5 2




(4)oooo

200
150
100

50

-50

-10

00 000000000000000000000000000000
0000000000000000000000000000000000
0000000000000000O00O0000000000000000
0000000000000000

(1),(2) 00000000000000000@3) 00000 y=-200
00000000000000000000000000000(@4) 000
00000000000000000000000000000



